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(Lithosphere) 
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ÍÛæ̃ Û¶ÛÛ :   (1) ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä¨Û ÍÛÁõ”ÛÛ ™öé.  
Instruction :  All questions carry equal marks. 
    (2) ›÷ÄõÁõ ›÷¨ÛÛýÛ ©ýÛÛ× ÍÈÛ˜™ö …ÛïèõÜ©Û þùÛéÁõÛé. 
     Draw neat diagrams wherever necessary.  
    (3) ¸ÛÁõà“ÛÛ¬Ûâ…Ûé ¶ÛîÉÛÛïèõÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ÉÛïõÉÛé.  
     Candidates may use stencils map wherever necessary. 
    (4) ¸Ûó.¶Û×. 1 ¬Ûà 4 ¶ÛÛ ›÷ÈÛÛ¼Û 900 ÉÛ¼þùÛé¾ÛÛ× ÅÛ”ÛÛé. 
     Write answers in about 900 words from Q. 1 to Q. 4. 
 
 
1. ÍÛÛíéÁõ ¾Û×¦øÇ …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ ¾Ûä”ýÛ •ÛóÐüÛé þùÉÛÛÙÈÛà, ¸Ûè¬ÈÛà •ÛóÐü ÜÈÛÉÛé ½ÛÛíé•ÛÛéÜÅÛïõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 14 
 What is solar system ? Mention main planets of it. Write a geographical note on the 

earth. 
…¬ÛÈÛÛ/OR 

 ¸Ûè¬ÈÛà¶Ûà …Û×©ÛÜÁõïõ Áõ˜Û¶ÛÛ ›÷¨ÛÛÈÛà, ›÷¾Ûà¶Û”Û×¦øÛé …¶Ûé ¾ÛÐüÛÍÛÛ•ÛÁõÛé¶Ûä× ÜÈÛ©ÛÁõ¨Û ÍÛ¾Û›ÛÈÛÛé.   
 Explain the interior structure of the earth. Describe the distribution of Continents and 

Oceans.  
 
2. ½Ûæ-ÍÛ×˜ÛÅÛ¶Û …é¤øÅÛé ÉÛä× ? •Ûé¦øàïõÁõ¨Û Ü’õýÛÛ ÍÛ´ùÌ¤øÛ×©Û ÍÛ¾Û›ÛÈÛÛé.  14 
 What is Diastrophism ? Explain the folding process with examples.  
                       …¬ÛÈÛÛ/OR 
 ”Û¦øïõ …é¤øÅÛé ÉÛä× ? ŠþÕù½ÛÈÛÜ’õýÛÛ ¾Ûä›÷¼Û ¸ÛóÍ©ÛÁõ ”Û¦øïõÛé¶Ûä× ÈÛ•ÛâïõÁõ¨Û ÍÛ¾Û›ÛÈÛÛé.  
 What is ‘Rock’ ? Classify and explain sedimentary rocks on the basis of their origin. 
 
3. šÈÛÛÇÛ¾Ûä”Ûà ¸ÛóÍºõÛé¤ø¶Û …é¤øÅÛé ÉÛä× ? šÈÛÛÇÛ¾Ûä”Ûà¶ÛÛ× ¾Ûä”ýÛ ¸ÛóïõÛÁõÛé ÍÛ´ùÌ¤øÛ×©Û ÍÛ¾Û›ÛÈÛÛé. 14 
 What is ‘Volcanic eruption’ ? Explain main types of volcano with examples. 
                             …¬ÛÈÛÛ/OR 
 ½Ûæï×õ¸Û¶Ûà ÈýÛÛ”ýÛÛ …Û¸Ûà, ©Ûé¶ÛÛ ¸ÛóïõÛÁõÛé ÍÛ¾Û›ÛÈÛà, ½Ûæï×õ¸Û¶ÛÛ ÍÛ×½ÛÜÈÛ©Û “ÛéªÛÛé¶Ûä× ÜÈÛÊÈÛ-ÜÈÛ©ÛÁõ¨Û ›÷¨ÛÛÈÛÛé.  
 Give definition of Earthquake. Explain its types. Mention the world-wide distribution of 

earthquake probable zone. 
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4. ¸ÛÈÛ¶Û¶Ûä× –ÛÍÛÛÁõ¨Û …¶Ûé Ü¶Û“Ûé¸Û¨Û ïõÛýÛÙ ÍÛ¾Û›ÛÈÛà, ©Ûé¾ÛÛ×¬Ûà Áõ˜ÛÛ©ÛÛ ½ÛæÜ¾Û-ÍÈÛÄõ¸ÛÛé ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 14 
 Explain the erosional and depositional work of wind. Write a note on resulting 

landforms. 
          …¬ÛÈÛÛ/OR 
 ”ÛÈÛÛ¨Û …é¤øÅÛé ÉÛä× ? ÁõÛÍÛÛýÛÜ¨Ûïõ ”ÛÈÛÛ¨Û ÍÛ´ùÌ¤øÛ×©Û ÍÛ¾Û›ÛÈÛÛé.  
 What is Weathering ? Explain chemical weathering with example.  
 
5. (A) ïõÛíêÍÛ¾ÛÛ×¬Ûà ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ”ÛÛÅÛà ›÷•ýÛÛ ¸ÛæÁõÛé : 7 
  Fill in the blanks with the correct words :  
  (1) ¾Û×•ÛÇ¶Ûé ________ Š¸Û•ÛóÐü ™öé. (…éïõ, ¼Ûé, ÉÛæ¶ýÛ ) 
   Mars has ________ satellites. (one, two, zero) 
  (2) ________ ¤øÛ¸Ûä ÍÛäÌÛä¸©Û šÈÛÛÇÛ¾Ûä”Ûà ™öé. (¼ÛéÁõ¶Û, Í¤ÖøÛé¾¼ÛÛéÅÛà, ¾ÛÛŠ¶¤ø ¼ÛóÛé¾ÛÛé) 
   ________ island is a dormant volcano. (Barren, Stromboli, Mount Bromo) 
  (3) ________ ¾ÛÛé›Û¶Ûé ÅÛ×¼ÛÛ©¾Ûïõ ¾ÛÛé›Û ïõÐéü ™öé. (P, S, L) 
   ________ waves are known as longitudinal waves. (P, S, L) 
  (4) ¶Ûþùà¶ÛÛ –ÛÍÛÛÁõ¨Û ïõÛýÛÙ¬Ûà ________ ¶Ûþùà¶Ûé ÍÛÛíé¬Ûà ÿ¦øà ”Ûà¨Û ¼Û¶ÛÛÈÛà ™öé.  
   (ïõÛéÅÛÛéÁõÛ¦øÛé, ¶ÛÛˆÅÛ, ïõÛéÉÛà) 
   Due to erosional work of river, ________ river has made the deepest valley. 

(Colarado, Nile, Koshi) 
  (5) ýÛä•ÛÛéÍÅÛÛÜÈÛýÛÛ¾ÛÛ× …ÛÈÛéÅÛ ¦æø¼Ûïõ ¼Û”ÛÛéÅÛ¶Ûé ________ ïõÐéü ™öé. (¸ÛÛé¶ÛÛéÁéõ, ¸ÛÛéÅÛ›÷é, ¦øÛéÅÛÛˆ¶ÍÛ) 
   Sink holes is known as ________ in Yugoslavia. (Ponore, Polje, Dolines) 
  (6) ½Ûæ•Û½ÛÙ ›÷Ç¶ÛÛ –ÛÍÛÛÁõ¨Û Ü’õýÛÛ¬Ûà ________ ½ÛæÜ¾Û ÍÈÛÄõ¸Û¶Ûà Áõ˜Û¶ÛÛ ¬ÛÛýÛ ™öé.  
   (ÅÛé¸Ûà¡ö, •ÛäºõÛ Í©Û×½Û, …µÛÛé•ÛÛ¾Ûà Í©Û×½Û) 
   Due to erosional work of underground water, ________ landform is formed. 
   (Lapis, Cave pillar, Stalactite) 
  (7) ________ …é …•¶ÛéýÛ ÜÈÛïèõ©Û ”Û¦øïõÛé ™öé. (¼ÛéÍÛÛÅ¤ø, •Ûóé¶ÛÛˆ¤ø, ÍÛÁõ¸Ûé¶¤øÛˆ¶Û) 
   ________ is a Meta Igneous Rock. (Basalt, Granite, Serpentine) 

 (B) ÜÈÛµÛÛ¶Û¶Ûà ÍÛÛ¾Ûé ‘’ ïéõ ‘’ ¶Ûà Ü¶ÛÉÛÛ¶Ûà ïõÁõÛé :  7 
  State whether following sentences are true or false : 
  (1) ¤øÛˆ¤ø¶Û …¶Ûé ¬Ûà¾ÛÍÛ …é ÉÛÜ¶Û¶ÛÛ Š¸Û•ÛóÐüÛé ™öé.  
   Titan and Thimus are satellites of Saturn. ________ 
  (2) ÍÛ¾Ûä®ù ¾ÛÛé›Û¶ÛÛ× –ÛÍÛÛÁõ¨Û ïõÛýÛÙ¬Ûà ÜºõýÛÛé¦Ùø¶Ûà Áõ˜Û¶ÛÛ ¬ÛÛýÛ ™öé.  
   Due to erosional work of sea-waves, Fiyord is created. ________ 
  (3) ¾Ûè©Û šÈÛÛÇÛ¾Ûä”Ûà …é ¡ö¦ø¸Ûà ½Ûæ-ÍÛ×˜ÛÅÛ¶Û Ü’õýÛÛ ™öé.  
   Extinct volcano is a rapid diastrophism process. ________ 
  (4) ÜÐü¾Û¶Ûþùà ³ùÛÁõÛ ¶ÛÇÛïõÛÁõ ÍÛÁõÛéÈÛÁõ Áõ˜ÛÛýÛ ™öé.  
   Oxbow Lake is formed by Glaciers. ________ 
  (5) •Ûóé¶ÛÛˆ¤ø …é ¸ÛóÍ©ÛÁõ ”Û¦øïõ¶Ûä× ŠþùÛÐüÁõ¨Û ™öé.  
   Granite is an example of sedimentary rocks. 
  (6) ›÷¾ÛÙ¶Ûà¶ÛÛé ÐüÛéÍ¤Ùø ¸ÛÈÛÙ©Û ”Û×¦ø ¸ÛÈÛÙ©Û ™öé.  
   Horst mountain of Germany is a Block Mountain. 
  (7) ïõÛ¼ÛÛë¶ÛéÉÛ¶Û ¸ÛóÜ’õýÛÛ …é ÁõÛÍÛÛýÛÜ¨Ûïõ ”ÛÈÛÛ¨Û ™öé.  
   Carbonation process is a chemical weathering. ________ 

________ 


